Programmlisting Programm Polynomdivision

ClrHome

Input "DIVIDENT:",Str0

1üY

1üÁ

1üW

While inString(Str0,"+",Á+1)ø0

Str0üStr1

inString(Str0,"+",Á+1)üÁ

sub(Str1,W,Á-W)üStr1

Á+1üW

1üX

{Y+1,2}üdim([A])

expr(Str1)ü[A](Y,1)

10üX

log(expr(Str1)/[A](Y,1)ü[A](Y,2)

Y+1üY

End

sub(Str0,W,length(Str0)+1-W)üStr1

{Y,2}üdim([A])

1üX

expr(Str1)ü[A](Y,1)

10üX

log(expr(Str1)/[A](Y,1))ü[A](Y,2)

Input "DIVISOR:",Str0

Str0üStr9

1üY

1üÁ

1üW

While inString(Str9,"+",Á+1)ø0

Str9üStr1

inString(Str9,"+",Á+1)üÁ

sub(Str1,W,Á-W)üStr1

Á+1üW

1üX

{Y+1,2}üdim([B])

expr(Str1)ü[B](Y,1)

10üX

log(expr(Str1)/[B](Y,1)ü[B](Y,2)

Y+1üY

End

sub(Str0,W,length(Str0)+1-W)üStr1

{Y,2}üdim([B])

1üX

expr(Str1)ü[B](Y,1)

10üX

log(expr(Str1)/[B](Y,1))ü[B](Y,2)

0üK:0üL:1üI:1üJ

1üG

dim([A])üL†

L†(1)+5üC

For(D,1,C,1)

1üI:1üJ:0üK:0üL

dim([A])üL†

L†(1)üC

Matrålist([A],1,L�)

Matrålist([A],2,L‚)

SortD(L‚,L�)

Liståmatr(L�,L‚,[A])

{G,2}üdim([C])

[A](1,1)/[B](1,1)ü[C](G,1)

[A](1,2)-[B](1,2)ü[C](G,2)

[B](1,2)+[C](G,2)üA

[B](2,2)+[C](G,2)üE

dim([A])üL�

L�(1)üC

For(B,1,C,1)

If A=[A](B,2)

Then

[A](B,1)-[B](1,1)*[C](G,1)ü[A](B,1)

1üK

Else

0üI

End

End

For(B,1,C,1)

If E=[A](B,2)

Then

[A](B,1)-[B](2,1)*[C](G,1)ü[A](B,1)

1üJ

1üL

Else

0üJ

End

End

If I=0 and K=0

Then

C+1üC

{C,2}üdim([A])

ú[B](1,1)*[C](G,1)ü[A](C,1)

Aü[A](C,2)

End

If J=0 and L=0

Then

C+1üC

{C,2}üdim([A])

ú[B](2,1)*[C](G,1)ü[A](C,1)

Eü[A](C,2)

End

If [A](1,1)=0 and C>1

Then

For(F,2,C,1)

[A](F,1)ü[A](F-1,1)

[A](F,2)ü[A](F-1,2)

End

{C-1,2}üdim([A])

End

Matrålist([A],2,L�)

SortD(L�)

If [B](1,2)>L�(1)

Then

Goto 0

End

1+GüG

End

Lbl 0

End

dim([C])üL„

L„(1)üW

"+"üStr3

"("üStr0

For(Á,1,W,1)

If [C](Á,1)=0

Goto 1

{[C](Á,1),[C](Á,1)}üL…

{1,2}üL†

LinReg(ax+b) L†,L…,Y€

EquåString(Y€,Str1)

sub(Str1,inString(Str1,"+")+1,length(Str1)-inString(Str1,"+"))üStr1

{[C](Á,2),[C](Á,2)}üL…

{1,2}üL†

LinReg(ax+b) L†,L…,Y€

EquåString(Y€,Str2)

sub(Str2,inString(Str2,"+")+1,length(Str2)-inString(Str2,"+"))üStr2

If Á=W

")"üStr3

Str0+Str1+"X^"+Str2+Str3üStr0

Lbl 1

End

FnOff 0

ClrHome

Output(1,1,"="+Str0

dim([A])üL†

L†(1)üH

If H=1 and [A](1,1)=0

Then

Stop

Else

dim([A])üL„

L„(1)üW

"+"üStr3

"("üStr0

For(Á,1,W,1)

If [A](Á,1)=0

Goto 2

{[A](Á,1),[A](Á,1)}üL…

{1,2}üL†

LinReg(ax+b) L†,L…,Y€

EquåString(Y€,Str1)

sub(Str1,inString(Str1,"+")+1,length(Str1)-inString(Str1,"+"))üStr1

{[A](Á,2),[A](Á,2)}üL…

{1,2}üL†

LinReg(ax+b) L†,L…,Y€

EquåString(Y€,Str2)

sub(Str2,inString(Str2,"+")+1,length(Str2)-inString(Str2,"+"))üStr2

If Á=W

")"üStr3

Str0+Str1+"X^"+Str2+Str3üStr0

Lbl 2

End

FnOff 0

Output(3,1,"REST:"+Str0)

Output(5,1,"DIVISOR:"+Str9

End

